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g A seeE | BRI D OIIIES
29 HEHAR (H/H) 5/24 7/26 11/15 1/17 O
AR FHATREZ]  (KF:47) 6:00 7:30 5:45 7:00 B
- O AL E il il it il
o 7K % (m) 3.6 4.5 3.8 4.1
gl B OB ok E e FJE 7<) =&
| K 52 E 51 = =
= H (C) 21.1 95.9 135 8.1
ey IS i (C) 21.8 27.2 16.2 12.8
i @, A H%?ﬁ%é ﬁ%’f«%@ H%W@@ [E Tt
R R = Pt a R | Pt e R | Pt e B | K R
H 75 2] & (m) 0.6 0.9 0.9 2.3 1.2
75 5 B (em) |> 100 [> 100 |> 100 [> 100 > 100
15 | A= pH 7.5 7.5 7.3 7.4 7.4
o DO (mg/L) 6.6 4.1 6.3 7.5 6.1
{m BOD (mg/L)] 0.9 0.8 1.2 1.9 1.2
B COD (mg/L) 8.0 6.7 7.4 7.4 7.4
ENES SS (mg/L) < 1 N L U EO | 1
w2 = F# (mg/L) 10.0 10.3 10.6 12.8 10.93
S B (mg/L) 1.35 1.59 1.17 1.66 1.44
o IS i #n (mg/L) 0.03 0.03 |< 0.01 0.03 0.03
K X v A (mg/L)[< 0.001 [< 0.001 [< 0.001 |< 0.001 < 0.001
el &2 ¥ 7 v (mg/L)J< 0.1 |< 0.1 < 0.1 [< 0.1 [ 0.1
153 i) (mg/L) < 0.005 |< 0.005 |< 0.005 [< 0.005 [[< 0.005
Wl A i 7 v a (mg/L)f< 0.02 [< 002 [< 002 [< 002 [[< 0.02
H fitk F  (mg/L) |< 0.005 |< 0.005 [< 0.005 [< 0.005 |[< 0.005
i 7K $R (mg/L) |< 0.0005[< 0.0005]< 0.0005[< 0.0005/< 0.0005
K i (mg/L) < 0.02 |< 0.02 |< 0.02 [< 0.02 [ 0.02
wol s g M 8k (mg/L) 0.21 0.09 |[< 0.05 0.20 0.14
H [TamtE~> 7> (mg/L) 0.04 0.03 0.02 0.04 0.03
H 7 - 2 (mg/L) [< 0.02 |< 0.02 [< 0.02 [< 0.02 |[< 0.02
WAk W A4 4 > (mg/L) 480 656 815 748 675
z MBAS (mg/L) 0.02 |< 0.02 [< 0.02 [< 0.02 0.02
ToE=THEHE (mg/L) 0.18 0.11 1.16 0.08 0.38
) dAEfRMEZEFE (mg/L) 0.14 0.04 0.41 0.08 0.17
REEAE %2 3 (mg/L) 9.55 9.20 8.25 11.5 9.63
% m M Bk (meg/D)|  1.29 1,57 1.06 1.48 1.35
B X s 8 R (ogem] 2090 3220 2900 2670 2720
O oK B TE T NE INE
. 7K B (C) 21.4 27.8 19.5 13.5
5 = fifbok 35 5 ik o | T K B[ B T KR
75 1 B (cm) 47 50 81 [> 100 70
[ 1 pH 7.3 7.3 7.3 7.6 7.4
o DO (mg/L)|< 0.5 [< 0.5 0.8 3.4 1.3
T | g BOD (mg/L) 11 5.7 3.9 0.9 5.4
155 COD (mg/L) 10 6.6 5.5 3.1 6.3
a s SS (mg/L) 1 5 5 < 1 3
=~ & S F# (mg/L) 2.42 2.58 2.10 2.12 2.31
Hl % B (mg/L)] 0.835 0.557 0.307 0.201 0.475
WAk A A4~ (mg/L) 14600 13100 14500 16200 14600
T [ For—TWZEE (me/L) 1.00 1.34 0.54 0.34 0.81
. dagietEEF (mg/L) < 0.01 |< 0.01 0.23 0.13 0.10
R Ee e 22 R (mg/L) 0.01 0.01 1.20 1.18 0.60
o L AR M BE (mg/L)) 0491 | 0491 | 0.195 | 0.181 || 0.340
R fm B R oyl 37200 ] 31800 | 36700 | 39800 36375




7 Hi S 4 Kg | w4 | R | HIE T AT 4
JAN
g JEANE weg | BRI D OIIES
29 HEAB (A/H) 5/24 7/26 11/15 1/17 O
T NS CE) 6:35 8:30 6:40 750 | 7 ¥
- 2 A E il il il Pl
A 7K % (m) 3.2 3.7 3.1 3.2
gl BB ok g g ) =8
- | X 52 E 581 = =
= H () 21.0 95.3 2.1 8.2
=l K i (C) 22.0 27.8 15.8 11.3
il 0, A Hg%%/é ?f%*r%é H%m%@ H%?-S%%’é
ol I X Dt v B | st e S | st v R | B e
g % B £ (m) 1.0 1.2 2.0 2.7 1.7
75 L £ (cm) 77 [> 100 [> 100 |> 100 94
15 | pH 7.1 7.4 7.6 7.6 7.4
a - DO (mg/L) 3.5 3.7 6.0 7.5 5.2
" BOD (mg/L) 1.0 1.9 1.5 1.6 1.5
b COD (mg/L) 8.1 7.5 6.9 7.2 7.4
H |5 SS (mg/L) J< 1 3 K1 K 2
wl & = # (mg/L)|  9.05 5.10 8.12 8.85 7.78
1 & B (mg/L) 1.29 1.24 0.936 1.06 1.132
U2 & (mg/l) B B - - -
BRI v A (mg/L) - - - - -
|l & v 7 v (mg/L) - - - - —
FE i) (mg/L) - — - - -
T Nofli 7 v A (mg/L) - - - — -
H fitk F# (mg/L) - - - - -
& 7K $R (mg/L) — — — — -
¥r & (mg/L) - - - - -
ol B R PE 8 (ng/L) - - - - -
B I mbti~y o (mg/L) - - - - -
H v = 2 (mg/L) — — — — -
Ak ¥ A4 4~ (mg/L) 2090 4070 1790 5720 3418
z MBAS (mg/L) - - - - -
ToE=THER (mg/L) 0.63 0.53 0.73 0.81 0.68
D g EErEZE SR (mg/L) 0.18 0.08 0.23 0.37 0.22
TR E 2 37 (mg/L) 7.56 3.41 6.06 7.26 6.07
"% m M B (mg/L)|  1.20 113 | 0801 | 0.965 || 1.024
R s B OE (o wayal 8190 12500 6080 16200 10743
O K TR INE INE INE =
. 7K B (C) 21.9 27.9 19.8 12.8
= = s S AL w3 A K A K
. % R B (cm) 45 86 |> 100 [> 100 83
B A pH 7.2 7.5 7.5 7.8 7.5
% DO (mg/L) |<_ 0.5 0.6 1.7 7.3 2.5
I | BOD (mg/L) 2.6 1.7 1.0 0.7 1.5
- COD (mg/L) 5.6 4.5 2.6 3.7 4.1
A | SS (mg/L) 1 2 (< 1 1 1
i = = # (mg/L) 2.15 1.80 1.92 5.44 2.83
A % B (mg/L)] 0.680 0.334 0.183 0.331 0.382
WAk ¥ A A4~ (mg/L) 14900 13600 14900 15000 14600
< ToE=7HER (ng/L) 1.20 0.90 0.46 0.71 0.82
. diagfErE=EFE (ng/L) [< 0.01 0.03 0.14 0.25 0.11
AR E 2 37 (mg/L) 0.01 0.04 1.29 2.11 0.86
o LR M P BE (mg/D)] 0.658 | 0.276 | 0.150 | 0.283 0.342
B & fx 8 R oooo0] 38200 | 34500 | 37500 | 36800 36750




W E 54 AKigs | )4 FA HIE TR 44
JAN
g VAR wrd | HEJ| D OIIES
29 HEAB (A/H) 5/24 7/26 11/15 1/17 O
T IR AR (B 59) 7:15 9:10 7:10 8:20 | * ¥
- O AL E il il it il
o 7K % (m) 4.0 4.6 4.0 4.5
gl RO K IR 7<) 7<) 7<) =&
S 52 E 51 = =
U " (C) 241 245 14.2 10.3
=k i (C) 22.3 27.6 16.1 14.3
s @, A H%%%@ H%{ﬁ%’f%@ 5 fk 1) €2 H%{I*ﬁ%@
S = i e B | g v B | B T K L | B e
g 75 B - (m) 1.1 1.3 1.1 1.9 1.4
75 1 E o (em) |> 100 72 53 |[> 100 81
17 | A= pH 7.2 7.5 7.3 7.4 7.4
i DO (mg/L) 3.0 4.4 3.6 6.6 4.4
; BOD (mg/L) 1.5 1.6 4.1 2.2 2.4
B COD (mg/L) 7.4 7.9 7.6 9.9 8.2
=R SS (mg/L) J<__ 1 4 2 < 1 2
ml®E % (mg/D] 7.12 10.1 7.08 11.1 8.85
1 & B (mg/L) 1.12 0.500 0.754 0.741 0.779
= & & a0 - - - - -
s K X v A (mg/L) — - - - -
|l & ¥ 7 v (mg/L) - - - - -
53 pie) (ng/L) - - - - -
H |l A i 7 2 2 (mg/L) - — — - -
H fitk # (mg/L) - - - - -
& 7K $R (mg/L) - - - — —
KF & (mg/L) - - - - —
wo B M M B (ng/L) - - - - -
H it~y 1 (mg/L) B B B B B
H T2 5 & (mg/l) - - - . .
WAk ¥ A 4~ (mg/L) 3270 5530 4330 7460 5148
Z MBAS (mg/L) - - - _ -
ToE=TMHEFZ (mg/L) 0.62 3.44 1.66 5.34 2.77
) daEfetEEFE (ng/L) 0.11 0.77 0.38 2.27 0.88
TEFRIEEE 32 (mg/L) 5.93 3.67 4.11 2.46 4,04
B ®% P % (mg/L) 1.03 0.377 0.602 0.630 0.660
R s B R oyl 11100 [ 16000 | 12800 | 20400 15075
O K TR INE INE INE =
. 7K B (C) 22.5 28.8 21.2 12.8
5= = Bridbok 35 5 ok s | S5O E 7K B | I e I
. 75 R B (cm) 45 63 |> 100 61 67
B A pH 74 7.8 74 7.8 76
% DO (mg/L) 1.1 0.7 2.4 8.2 3.1
I | BOD (mg/L) 2.6 1.8 1.2 1.2 1.7
5 COD (mg/L) 5.0 4.0 2.9 3.6 3.9
A | SS (mg/L) 2 8 1 10 5
i = = # (mg/L) 1.82 1.97 1.95 2.37 2.03
A % B (meg/L)] 0.612 0.306 0.154 0.156 0.307
WAk ¥ A A4~ (mg/L) 15500 14500 15700 16900 15650
< ToE=7HER (ng/L) 1.20 0.92 0.49 0.72 0.83
o i EErEZE R (mg/L) 0.01 0.07 0.11 0.27 0.12
[EI e (mg/L) 0.07 0.25 1.33 0.79 0.61
o LR M P BE (mg/D)] 0596 | 0.250 | 0.128 | 0.112 0.272
B & s 8 R oooe0] 39500 | 39700 | 38500 | 40600 39575
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AN
AR BT R MG R | kEwmEm|  C d 1 X
29 HEAR (H/B) 5/24 7/26 11/15 1/17 O
L AR (FF:5)) 8:20 9:45 7:40 8:55 | %
. ?i i va E B Bk B Bedk
o 7K % (m) 3.5 4.0 3.2 4.0
B kg =g )= g g
B P 5 s 8] = =
= " (C) 24.7 24.9 14.1 8.1
et IS EH_(C) 23.3 28.4 21.1 13.8
s 0, +H ﬁ%%%@ H%?ﬁ%@ ﬁ%m%é ﬁ%m%é
LR = P e L | Pt v b | D v B | DS e
5 75 B - (m) 1.7 1.5 2.3 1.7 1.8
% 15 B (cm) 81 |> 100 [|> 100 75 89
18 | A= pH 7.3 7.3 7.3 7.5 7.4
- DO (mg/L) 5.9 4.1 5.0 6.6 5.4
BOD (mg/L) - - - - -
Br COD (mg/L) 9.6 8.1 8.3 10 9.0
ERE= SS (mg/L) 1 1 <1 1 1
mlL & £ % (mg/L) 12.8 11.9 12.1 11.4 12.1
D B (mg/L)|  0.628 0.359 0.413 0.677 0.519
U2 % & (mg/L) B . . B .
B K I v A (mg/L) - - - - -
|l & ¥ 7 v (mg/L) - - - - -
53 it (mg/L) - - - - -
Bl N M 7 2 A (mg/L) - - - - -
B[ at % (mg/L) - - - - -
i 7K R (mg/L) - - — — —
R ki) (mg/L) - - - _ _
w8 (ng/L) - - - - -
BTt~ /D] - - - -
H 7 o & e[ - B } a -
At ¥ A4 4~ (mg/L) 5810 5430 5930 7680 6213
z MBAS (mg/L) - = _ — _
ToE=T RS (mg/L) 7.40 3.61 4.24 6.31 5.39
D Mgtz FR (mg/L) 1.10 0.83 1.28 2.24 1.36
REme a3 (mg/L) 3.43 5.71 5.64 2.31 4.27
% m M % (mg/L)| 0542 0.253 0.324 0.573 0.423
K s B o wsm] 16700 15500 16700 21100 17500
PR He kTR T | TE| TE T
. 7K i (C) 21.8 28.9 22.8 14.0
5 = Pt e R | D e R | i e B | T g B
. 5 5 E (cm) 73 91 [> 100 62 82
c3ps pH 7.6 7.9 7.6 7.9 7.8
i DO (mg/L)| 5.0 1.5 3.9 7.5 4.5
I | g BOD (mg/L) - - - - -
5 COD (mg/L) 5.6 3.8 3.0 3.1 3.9
Al SS (mg/L) 4 2 < 1 7 4
=~ & %= F# (mg/L) 3.04 2.31 2.63 1.91 2.47
Al 4 B (mg/L)| 0.324 0.261 0.146 0.147 0.220
WAk W A4 A4~ (mg/L) 13900 14000 15500 17400 15200
< ToE=TEEFE (mg/L) 1.00 0.78 0.74 0.55 0.77
o Mg ERrEE SR (me/L) 0.20 0.13 0.19 0.17 0.17
RE Rl E %2 3 (mg/L) 1.06 0.60 1.69 0.58 0.98
i | M M OBE (me/L)| 0.238 | 0.200 | 0.119 0.105 0.166
E A S8 E ol 36100 | 44500 [ 37200 42600 40100
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ke 5011 s [ sommn| C T
29 HEAR (H/B) 5/24 7/26 11/15 1/17 O
L AR (FF:5)) 8:50 10:10 8:05 9:25 | ¥ %
. G VA ¥ AR U | MRS O | AR O | AR R D
B = 7K % (m) 4.0 4.7 4.4 4.6
B kg =g )= g B
B P 5 s 8] = =
= " (C) 27.1 24.0 14.2 9.8
et IS i (C) 23.3 27.9 18.5 12.6
s 0, +H ﬁ%%%@ H%{ﬁ%%@ ﬁ%{ﬁ%%%é ﬁ%m%é
LR = P e L | Pt v b | D v B | DS e
5 75 B - (m) 1.0 1.2 1.5 1.9 1.4
% 15 B2 (em) > 100 73 80 67 80
18 | A= pH 7.2 7.5 7.4 7.5 7.4
- DO (mg/L) 3.6 3.7 3.2 6.8 4.3
BOD (mg/L) - - - - —
Br COD (mg/L) 7.8 7.7 7.8 9.6 8.2
H |5 SS (mg/L) 2 3 2 1 2
mlL & = # (mg/L)|  8.59 9.34 8.04 10.3 9.07
D B (mg/L) 1.01 0.585 0.615 0.660 0.718
U2 % & (mg/L) - . . = .
B K I v A (mg/L) - - - - -
wl e v 7 v (mg/L) — - — — -
53 it (mg/L) - - — - —
Hl A fli 7 2 & (mg/L) - - - - -
B[ at % (mg/L) - - - - -
i 7K R (mg/L) — - — — -
¥ &l (mg/L) - - - - —
ol B M M B (neg/L) - - - - -
B I amvi~y 7> (mg/L) . - - - -
T = A (mg/L) — — - - _
At ¥ A4 4~ (mg/L) 4780 5890 5200 7800 5918
z MBAS (mg/L) - = _ — _
ToE=T RS (mg/L) 2.00 2.95 2.22 5.01 3.05
D Mgtz FR (mg/L) 0.35 0.65 0.64 1.97 0.90
REme a3 (mg/L) 5.21 4.38 4.37 2.66 4.16
i % m M % (meg/L)| 0.946 0.461 0.504 0.583 0.624
E R s 8 OE oyl 14600 16700 15100 21500 16975
PR He kTR T | TE| TE T
. 7K i (C) 23.2 28.3 22.4 13.7
= = ok | WEREER | e R | i e B
5 5 B (cm) 53 70 |> 100 47 68
e[ bl 7.4 7.5 7.3 7.8 7.5
o DO (mg/L) 0.9 0.9 3.3 6.3 2.9
I | g BOD (mg/L) - - - - -
5 COD (mg/L) 4.3 4.6 3.8 3.2 4.0
Al SS (mg/L) 3 1 5 8 4
=~ & %= F# (mg/L) 1.90 3.27 3.44 1.85 2.62
Al 4 B (me/L)] 0.632 0.388 0.208 0.186 0.354
WAk W A4 A4~ (mg/L) 15900 [ 12700 14100 17800 15125
< ToE=TEEFE (mg/L) 1.30 1.24 0.99 0.51 1.01
o Mg ERrEE SR (me/L) 0.04 0.17 0.27 0.12 0.15
RE Rl E %2 3 (mg/L) 0.13 0.90 2.05 0.51 0.90
i | M M OBE (me/L)| 0571 | 0.306 | 0.163 0.135 0.294
E A S8 E o weml 40200 | 40100 [ 34900 42800 39500




7 Hi S 4 Kg | w4 | R | HIE T AT 4
JAN
R JUH T H R | s | C X
29 HEHAR (H/H) 5/24 7/26 11/15 1/1 O
T A (RF:57) 9:40 11:00 | 8:35 10:15 | %
- S A % SR SR SR JERE
o 7K % (m) 5.0 4.9 5.0 5.0
gl RO K IR 7<) 7<) 7<) =&
S 52 E 51 = =
U 5 (C) 27.8 | 24.0 16.2 9.5
=k i (C) 22.8 27.2 17.2 12.1
P @, A I A ok £, | R ) 12, | IR S48 £ | S 5 e £
b = i e R | i e R | i e R | Bt e R
g 75 B - (m) 1.4 1.9 2.9 2.6 2.2
75 1 E (cm) 49 62 [> 100 [> 100 78
15 | A pH 8.1 7.9 7.6 7.8 7.9
, DO (mg/L) | 10.0 5.2 5.7 8.1 7.3
1 BOD (mg/L) - - - - -
BR COD (mg/L) 6.8 5.3 3.8 5.4 5.3
H |5 SS (mg/L) 6 1 1 2 3
mlL 2 = % (mg/L) 2.86 4.04 3.61 5.34 3.96
1 & B (mg/L)|  0.285 0.296 0.191 0.338 0.278
HIm = i & (mg/L) |< 0.01 0.01 [< 0.01 0.01 0.01
1K X v A (mg/L)[< 0.001 [< 0.001 [< 0.001 |< 0.001 < 0.001
el & ¥ 7 v (mg/L)J< 0.1 |< 0.1 < 0.1 [< 0.1 J[< 0.1
53 pie) (mg/L) < 0.005 |< 0.005 |< 0.005 [< 0.005 [[< 0.005
Wl N i 7 v A (mg/L) < 0.02 [< 0.02 [< 0.02 [< 0.02 [[< 0.02
H filk # (mg/L) < 0.005 |< 0.005 [< 0.005 [< 0.005 |[< 0.005
“ 7K $R (mg/L) |[< 0.0005[< 0.0005 |< 0.0005|< 0.0005[< 0.0005
K B (mg/L) J< 0.02 |< 0.02 |< 0.02 [< 0.02 [[< 0.02
wol M M B mg/D] 005 [< 005 [< 005 [< 005 < 0.05
H T mtE~r 7> (mg/L) 0.06 0.02 |< 0.02 0.02 0.03
H Vi = 2 (mg/L) [< 0.02 |[< 0.02 [< 0.02 [< 0.02 |[< 0.02
WAL W A4 A4 0 (mg/L) 13700 | 11000 12900 13400 12750
z MBAS (mg/L) J< 0.02 |< 0.02 |< 0.02 [< 0.02 [[< 0.02
ToE=TMHEFZ (mg/L) 0.60 1.21 0.76 2.29 1.22
D daEfetEEFE (ng/L) 0.18 0.33 0.29 0.87 0.42
TEFRIEEE 32 (mg/L) 1.13 1.46 2.05 1.72 1.59
o "B # % %% (me/L)| 0150 | 0228 | 0159 | 0288 | 0.206
B s E R oyl 36100 [ 28300 | 32700 33900 32750
BOE K B )= INE] INE INE]
. 7K H(C) 22.3 27.0 18.8 11.1
R = Pt a R | Pt e R | Pt e R | i e R
. 75 i - (cm) 27 92 |> 100 59 70
[ 1 pH 8.0 8.0 7.6 8.0 7.9
o DO (mg/L)| 6.0 3.6 4.5 8.7 5.7
1A g BOD (mg/L) - - _ _ _
i COD (mg/L) 5.2 4.0 2.9 2.2 3.6
A |5 SS (mg/L) 17 3 < 1 5 7
=~ & = F% (mg/L) 1.76 2.19 2.14 1.18 1.82
Hl & B (mg/L)] 0.219 0.238 0.134 0.073 0.166
WAk WA 4~ (mg/L) 16600 [ 14400 15100 18100 16050
< ToE=THER (mg/L) 0.40 0.71 0.48 0.17 0.44
o fgierE=%E (mg/L) 0.09 0.13 0.13 0.08 0.11
[ ES (ng/L) 0.60 0.63 1.43 0.48 0.79
o LR M P OB (mg/D)] 0.124 | 0177 | 0.107 | 0.050 || 0.115
B A s 8 R (oogenl 41000 | 42700 | 36700 | 43600 41000
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) |5 yerd | LR D fm ) X
HEAHB (H/R) 5/23 7/25 11/21 1/16 O
FHA R (KF:43) 10:25 10:25 11:10 9:35 D]
I SR VA it Pl it Pl
= 7K % (m) 1.6 1.7 1.8 2.2
B oK B =g <& g B
K [ i i3 i i3
= H(C) 29.8 35.8 11.1 8.8
et IS EH_(C) 24.5 27.5 13.3 10.5
0, +H BHIK kR | BHIK Skt | SRS | JKERE
H ® = ek | BT L | B K B | i
5 75 B - (m) 1.0 0.9 1.3 1.5 1.2
% 15 B (cm) 67 |> 100 |> 100 [> 100 92
A pH 7.3 7.9 6.9 7.4 7.4
- DO (mg/L) 6.5 7.1 8.7 9.7 8.0
/ BOD (me/L) | 1.3 0.6 1< 05 |< 05 0.7
COD (mg/L) 3.4 3.0 3.7 2.2 3.1
i SS (mg/L) < 1 [ 1 1)< 1 1
mlL & £ % (mg/L) 3.27 3.61 2.32 4.01 3.30
D B (mg/L)| 0.128 0.051 0.222 0.016 0.104
HTI = i gn (mg/L) < 0.01 0.01 0.01 |[< 0.01 0.01
1 K X v A (mg/L)|< 0.001 [< 0.001 [< 0.001 [< 0.001 |[< 0.001
el & ¥ 7 v (mg/L)< 0.1 [< 0.1 [< 01 [< 0.1 < 0.1
53 it (mg/L) < 0.005 [< 0.005 |< 0.005 |< 0.005 [[< 0.005
IR Nl 7om 2 (mg/L) )< 0.02 [< 0.02 [< 0.02 [< 0.02 < 0.02
H fitk F (mg/L) [< 0.005 [< 0.005 |< 0.005 |< 0.005 [[< 0.005
o 7K $R (mg/L) |< 0.0005]< 0.0005 [< 0.0005[< 0.0005[< 0.0005
] (mg/L) < 0.02 |< 0.02 |< 0.02 |< 0.02 [[< 0.02
wOfE ME 8 (mg/L) 0.06 0.09 |< 0.05 |< 0.05 0.06
WM~ Y (mg/L) 0.26 0.19 0.05 0.29 0.20
Z = A (mg/L) < 0.02 [< 0.02 [< 0.02 [< 0.02 [[< 0.02
At ¥ A4 4~ (mg/L) 4350 2820 12600 2140 5478
MBAS (mg/L) 0.02 [< 0.02 [< 0.02 [< 0.02 0.02
ToE=T RS (mg/L) 0.18 0.12 0.61 0.02 0.23
Mgtz FR (mg/L) 0.01 0.03 0.07 0.04 0.04
REme a3 (mg/L) 2.63 3.09 1.11 3.68 2.63
B B M B (mg/L) | 0.097 0.037 0.185 0.008 0.082
S s B o sm] 13700 8440 32400 6940 15370
PR He kTR T | TE| TE T
7K i (C) 24.9 28.8 15.2 11.3
= = Bk FE R milbkFER | TR |#erbicss
5 5 B (cm) 17 19 [> 100 69 51
H pH 7.0 7.1 7.1 7.4 7.2
i DO (mg/L)|< 0.5 |< 05 8.5 4.5 3.5
o BOD (mg/L) 11 3.4 1.6 1.1 4.3
5 COD (mg/L) 6.5 6.6 3.7 3.4 5.1
- SS (mg/L) 1 2 < 1 <1 1
=~ & %= F# (mg/L) 1.77 4.88 2.42 2.43 2.88
Al 4 B (mg/L)| 0.551 0.412 0.246 0.140 0.337
"Wk WA 4 (mg/L) 14500 | 12000 13400 14200 13525
ToE=TEEFE (mg/L) 0.65 1.70 0.69 0.64 0.92
drgietEz=EFR - (mg/L) < 0.01 0.10 0.06 0.12 0.07
RE Rl E %2 3 (mg/L) 0.01 0.38 0.97 1.23 0.65
B B M B (mg/L) | 0.493 0.305 0.212 0.098 0.277
E A S8 E o aeml 41200 32100 33600 36400 35825




) E H S 4 A | )14 Fa HIE TR A 44
PAN
g )16 SO | mpiEE| C K
29 HEAR (H/B) 5/23 7/25 11/21 1/16 O
S AR (K 5)) 9:45 11:20 | 10:40 | 10:25 || % #
5 B O A % Tt | T | TR | SR
= 7K % (m) 0.9 0.7 1.3 1.2
B kg =g )= g g
B S [ i = i i
= " (C) 33.8 35.8 10.3 9.5
et IS i (C) 24.7 29.3 12.0 10.5
s @, +H PHJK Skt | BHIK Sk £ )7;?@:@ W%@
o = ik s | ik s | A v R | ki e L
5 75 B - (m) 0.7 0.7 [> 13 [ 1.2 1.0
% 15 B (cm) 47 54 |> 100 |> 100 75
18 | A= pH 7.2 7.3 7.2 7.5 7.3
. DO (mg/L) 1.0 2.2 6.2 10 4.9
i BOD (mg/L) - - - - —
Br COD (mg/L) 5.0 5.3 3.2 2.7 4.1
ERE= SS (mg/L) 1 1 <1 1 1
mlL & = # (mg/L) | 2.63 2.77 2.89 3.39 2.92
D B (mg/L)| 0.313 0.272 0.304 0.075 0.241
U2 % & (mg/L) . . . = -
B K I v A (mg/L) - - - - -
wl e v 7 v (mg/L) — - — — -
53 it (mg/L) - - — - —
Wl AN i 7 o & (mg/L) - - - - -
B[ at % (mg/L) - - - - -
i 7K R (mg/L) — - — — -
¥ &l (mg/L) - - - - —
ol B M M B (neg/L) - - - - -
B I amvi~y 7> (mg/L) . - - - -
H T 5 & (ng/L) B B B n .
At ¥ A4 4~ (mg/L) 8520 9210 12900 6610 9310
z MBAS (mg/L) - = _ — _
ToE=T RS (mg/L) 0.77 0.87 0.63 0.21 0.62
D Mgtz FR (mg/L) 0.06 0.09 0.09 0.08 0.08
REme a3 (mg/L) 1.33 1.29 1.59 2.78 1.75
i % m ¥ % (mg/L)| 0251 0.198 0.302 0.052 0.201
R s B OE o wsel 24500 | 33400 | 32800 18700 27350
PR He kTR T | TE| TE T
. 7K i (C) 24.0 28.8 14.2 11.5
5 = iAok 38 5| fifleok S 5| (i e R | P e .
. 5 5 B (cm) 35 27 |> 100 |> 100 66
e[ bl 7.3 7.3 7.3 7.4 7.3
i DO (mg/L)|< 0.5 |< 05 5.9 9.0 4.0
I | g BOD (mg/L) - - - - -
5 COD (mg/L) 6.5 6.2 3.4 2.7 4.7
Al SS (mg/L) 2 7 < 1 1 3
=~ & %= F# (mg/L) 1.86 2.61 2.74 2.38 2.40
Al 4 B (mg/L)] 0.527 0.363 0.298 0.177 0.341
WAk W A4 A4~ (mg/L) 13100 [ 12000 13500 15200 13450
< ToE=TEEFE (mg/L) 0.76 1.16 0.63 0.56 0.78
o drgietEz=EFR - (mg/L) < 0.01 0.10 0.08 0.13 0.08
RE Rl E %2 3 (mg/L) 0.02 0.56 1.58 1.25 0.85
i | M M OBE (me/L)| 0.467 | 0.281 0.296 0.145 0.297
E A S8 E el 39100 | 39700 [ 34900 38300 38000




) E H S 4 A | )14 Fa HIE TR A 44
PAN
g S s (memm| C OIS
29 HEAR (H/B) 5/23 7/25 11/21 1/16 O
L AR (FF:5)) 8:30 9:20 10:00 8:55 | %
. I SR VA Gl | tetEhs | B | s
EA PN Nyl
o 7K % (m) 2.7 3.2 3.6 3.2
B kg =g )= g g
LR [ i i i i
= " (C) 28.4 35.6 105 8.9
et IS i (C) 24.2 29.2 12.2 10.4
s @, +H IRk H%m%é )7;?@:@ W%@
o = ek s s | D v . | D v b | PR
5 75 B - (m) 1.0 3.1 3.2 2.5 2.5
% 15 B (cm) 36 92 |> 100 |> 100 82
18 | A= pH 7.3 7.5 7.4 7.6 7.5
. DO (mg/L) 2.1 3.0 5.6 9.9 5.2
i BOD (mg/L) - - - - -
Br COD (mg/L) 5.5 5.2 3.0 2.8 4.1
ERE= SS (mg/L) 7 2 < 1 <1 3
mlL & £ % (mg/L) 2.51 2.03 2.88 2.58 2.50
D B (mg/L)|  0.499 0.320 0.326 0.187 0.333
U2 % & (mg/L) B - . B .
BRI v A (mg/l) - - - - -
wl e v 7 v (mg/L) - - — — ~
53 it (mg/L) - - - - -
Wl AN i 7 o & (mg/L) - - - - -
B[ at % (mg/L) - - - - -
i 7K R (mg/L) - - — — —
¥ &l (mg/L) - - - - -
ol B M M B (neg/L) - - - - -
B I amvi~y 7> (mg/L) . _ - - B
H T 5 & (ng/L) B B B B .
At ¥ A4 4~ (mg/L) 14000 | 14000 13000 14900 13975
z MBAS (mg/L) - - - - -
ToE=T RS (mg/L) 1.00 0.86 0.66 0.52 0.76
D Mgtz FR (mg/L) 0.10 0.09 0.09 0.14 0.11
REme a3 (mg/L) 0.38 0.32 1.71 1.76 1.04
i % % M % (meg/L)| 0378 0.234 0.324 0.163 0.275
A s B o sm] 36400 36100 33000 37500 35750
OB oK INE] INE INE] INE
. 7K i (C) 23.8 28.6 17.7 12.1
5 = iAok 38 5| fifleok S 5| (i e R | P e .
. 5 5 E (cm) 30 50 |> 100 |> 100 70
c3ps pH 7.0 7.6 7.5 7.8 7.5
i DO (mg/L) [<_ 0.5 1.1 2.7 8.0 3.1
I | g BOD (mg/L) - - - - -
5 COD (mg/L) 5.5 5.4 3.1 2.5 4.1
Al SS (mg/L) 3 5 < 1 1 3
=~ & %= F# (mg/L) 1.55 1.84 1.60 1.91 1.73
Al 4 B (mg/L)| 0.458 0.349 0.165 0.164 0.284
WAk W A4 A4~ (mg/L) 15100 [ 14900 16100 17100 15800
< ToE=TEEFE (mg/L) 0.89 0.95 0.57 0.47 0.72
o drgietEz=EFR - (mg/L) < 0.01 0.03 0.05 0.13 0.06
RE Rl E %2 3 (mg/L) 0.01 0.08 0.80 0.87 0.44
i | M M OBE (me/L)| 0367 | 0.253 | 0.156 0.120 0.224
E A S8 E oaeml 42600 | 40600 [ 38600 41800 40900




) E H S 4 A | )14 Fa HIE TR A 44
PAN
g I SO | mpiEE| C X
29 HEAR (H/B) 5/23 7/25 11/21 1/16 O
L AR (FF:5)) 7:35 8:20 9:00 750 || ¢ ¥
. G VA ¥ B | B | B Bed
B = 7K % (m) 3.8 5.2 5.3 5.5
B kg =g )= g g
LR [ i i i i
= " (C) 275 33.8 118 7.
et IS EH_(C) 23.8 28.1 13.5 9.8
s @, +H ?@%%@ H%m%é ﬁ%m%é H%W%@
LR = P e L | Pt v b | D v B | DS e
5 75 B - (m) 1.5 1.7 2.8 1.7 1.9
% 15 B (cm) 89 90 |> 100 |> 100 95
18 | A= pH 7.5 7.8 7.5 7.8 7.7
. DO (mg/L) 5.0 4.7 5.0 8.6 5.8
i BOD (mg/L) - - - - -
Br COD (mg/L) 4.8 5.0 3.4 2.9 4.0
ERE= SS (mg/L) 3 2 < 1 <1 2
mlL & £ % (mg/L) 2.63 2.00 2.53 2.75 2.48
D B (mg/L)|  0.414 0.313 0.236 0.238 0.300
U2 % & (mg/L) B . - - .
BRI v A (mg/l) - - - - -
wl e v 7 v (mg/L) - - — — ~
53 it (mg/L) - - - - -
Bl N M 7 2 A (mg/L) - - - - —
B[ at % (mg/L) - - - - -
i 7K R (mg/L) - - — — —
¥ &l (mg/L) - - - - -
ol B M M B (neg/L) - - - - -
B I amvi~y 7> (mg/L) . _ - - B
H T 5 & (ng/L) B B B B .
At ¥ A4 4~ (mg/L) 14400 | 14000 14300 14800 14375
z MBAS (mg/L) - - - - -
ToE=T RS (mg/L) 0.96 0.74 0.60 0.45 0.69
D Mgtz FR (mg/L) 0.13 0.11 0.09 0.14 0.12
[ E=ER (mg/L) 0.85 0.43 1.23 1.63 1.04
i % % M % (meg/L)| 0.350 0.221 0.227 0.205 0.251
A s B o asm] 37300 35500 34800 37400 36250
OB oK INE] INE INE] INE
. 7K i (C) 22.8 27.4 16.4 11.4
5 = iAok 38 5| fifleok S 5| (i e R | P e .
. 5 5 B (cm) 80 79 |> 100 63 81
c3ps pH 7.3 7.6 7.7 7.9 7.6
o DO (mg/L) 15 |< 05 3.9 6.8 3.2
I | g BOD (mg/L) - - - - -
5 COD (mg/L) 4.3 4.9 2.7 2.4 3.6
Al SS (mg/L) 3 [« 1 < 1 3 2
=~ & %= F# (mg/L) 1.62 1.79 1.49 1.49 1.60
Al 4 B (mg/L)| 0.333 0.371 0.115 0.126 0.236
WAk W A4 A4~ (mg/L) 16500 [ 16000 16800 17700 16750
< ToE=TEEFE (mg/L) 0.77 1.22 0.32 0.34 0.66
o fiEmeEsE# (mg/L) 0.06 [< 0.01 0.04 0.10 0.05
RE Rl E %2 3 (mg/L) 0.31 0.01 0.61 0.64 0.39
i | M M OBE (me/L)| 0.276 | 0.309 | 0.107 0.090 0.196
E A S8 E el 41700 | 46800 [ 40000 43100 42900




) E H S 4 A | )14 Fa HIE TR A 44
PAN
ke V5 G HUTS [ R | C SN X
29 HEAR (H/B) 5/23 7/25 11/21 1/16 O
L AR (FF:5)) 6:35 7:30 8:00 700 | ¢ ¥
. ?;\E B iz E B Bk B Bedk
o 7K % (m) 4.3 5.0 5.5 5.5
sl OB kR =g <& g B
LR [ i i3 i i3
= " (C) 211 31.7 8.8 1.8
et IS EH_(C) 21.8 27.5 13.6 6.7
i 0, +H ?@1@%@ ﬁ%ﬁﬁ%%@ ﬁ%m%é H%W%@
LR = P e L | Pt v b | D v B | DS e
5 75 B - (m) 1.9 1.6 2.7 2.0 2.1
% 15 B (em) |> 100 |> 100 [> 100 [> 100 f> 100
15 | 4= pH 7.6 7.8 7.6 7.8 7.7
. DO (mg/L) 5.3 4.3 6.4 9.1 6.3
i BOD (mg/L) - - - - -
Br COD (mg/L) 4.4 5.5 2.4 3.7 4.0
ERE= SS (mg/L) 2 1 <1 <1 1
mlL & £ % (mg/L) 2.89 2.38 2.91 3.86 3.01
D B (mg/L)|  0.402 0.277 0.296 0.465 0.360
HTI = i $n (mg/L) 0.01 0.01 0.01 0.01 0.01
1 K X v A (mg/L)|< 0.001 [< 0.001 [< 0.001 [< 0.001 |[< 0.001
el & ¥ 7 v (mg/L)|< 0.1 [< 0.1 [< 01 [< 01 < 0.1
53 it (mg/L) < 0.005 [< 0.005 |< 0.005 |< 0.005 [[< 0.005
IR Nl 7om 2 (mg/L) )< 0.02 [< 0.02 [< 0.02 [< 0.02 [[< 0.02
H fitk F (mg/L) [< 0.005 [< 0.005 |< 0.005 |< 0.005 [[< 0.005
o 7K g1 (mg/L) J< 0.0005|< 0.0005 |< 0.0005[< 0.0005(< 0.0005
‘S ] (mg/L) < 0.02 |< 0.02 |< 0.02 |< 0.02 [[< 0.02
w8 (me/L) < 0.05 [< 0.05 [< 0.05 [< 0.05 < 005
I§ WM~ Y (mg/L) 0.08 |< 0.02 0.03 [<  0.02 0.04
Z = A (mg/L) [< 0.02 |< 0.02 |[< 0.02 |[< 0.02 [[< 0.02
At ¥ A4 4~ (mg/L) 13900 | 13300 13600 14000 13700
z MBAS (mg/L) 0.02 [< 0.02 [< 0.02 [< 0.02 0.02
ToE=T RS (mg/L) 1.00 0.69 0.47 0.38 0.64
D Mgtz FR (mg/L) 0.16 0.15 0.11 0.13 0.14
REme a3 (mg/L) 1.15 0.78 1.85 0.54 1.08
i % m M % (meg/L)| 0333 0.201 0.293 0.434 0.315
A s B o sm] 36400 32800 33600 35600 34600
OB oK INE] T)E INE] INE
. 7K i (C) 20.7 26.2 15.6 11.2
5 = Pt e R | D e R | i e B | T g B
. 5 5 B (cm) 71 > 100 |> 100 70 85
c3ps pH 7.8 8.0 7.7 7.9 7.9
i DO (mg/L) 4.6 2.0 5.0 7.7 4.8
I | g BOD (mg/L) - - - - -
o COD (mg/L) 4.0 4.4 1.9 2.6 3.2
Al SS (mg/L) 4 1 < 1 3 2
=~ & %= F# (mg/L) 1.58 1.65 1.32 1.45 1.50
Al 4 B (mg/L)| 0.262 0.234 0.116 0.116 0.182
WAk W A4 A4~ (mg/L) 16900 [ 15300 16800 18100 16775
< ToE=TEEFE (mg/L) 0.56 0.56 0.25 0.46 0.46
o fiEmeEsE# (mg/L) 0.08 0.07 0.05 0.09 0.07
RE Rl E %2 3 (mg/L) 0.56 0.34 0.64 0.58 0.53
i | M M OBE (me/L)| 0.170 | 0.167 | 0.106 0.077 0.130
B R B EH B o el 42200 | 46700 39700 43700 43075




